istn. wodocigg 940 Ro=223,61

istn. kabel teletech. 20 Ro=224,58

\ istn. gaz. 963 Ro=224,65

istn. kabel energ. NN @20 Ro=224,89

istn. wod. 290 Ro=219,65

istn. kabel energ. NN 20 Ro=219,64

istn. kabel teletech. 20 Ro=219,61

istn. kabel teletech. 20 Ro=218,15

istn. kabel teletech. @20 Ro=215,22

istn. kabel energ. NN @20 Ro=214,70

istn. gaz. 290 Ro=213,29

istn. kabel energ. NN @20 Ro0=213,40

IStn. Kabel teletech. g2U0 R0=213,35

istn. kabel teletech. 20 Ro=213,27

istn. gaz. 990 Ro=213,10

iStn. Wod: ;

istn. kabel teletech. 220 Ro=211,68

istn. kabel teletech. 220 Ro=211,62

istn. kabel energ. NN 20 Ro=211,19
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